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4. Consider two beam-pipe options:

a) A decay within beam pipe => big pipe (r = 10 cm)
b) A decay outside beam pipe => narrow pipe (r= 1 cm)

5. Rates:
(G = 100 MHz — 500 MHz ©*°, 200 MHz 1°
—s MicroMegas (=10® Hz/cm®), SciFi, SiPix,...

Question: can the physics be done if multiple interactions?

6. Trigger?

Want to veto events with charged particles within
~few mm of beam

a) need fast veto: 1 ns — ~10% accidental veto loss

= Cherenkov plates? Mwéﬂ, bwﬁy ( A

b) need beam unbunched or bunched at f >100 MHz
Idea 412 BTeV, LHC:

Digitize all data into fast pipeline — online pattern
recognition of signal characteristics

7. Compatible with 8-decay?

—s peed redundant e ID = shower counters + TOFE?
Cherenkov?

8. Don’t forget other (bread-and-butter) physics
e.g. 5[pp—>AA(1405)] — is A(1405) uds or KN molecule?

20003
HIMON €T 9vI1INJdd TTE€9 0¥8 0€9 XV TT:2T NOK 00/FT/80



0. Need to start simulation studies!

1. Consider fixed-target experiment with internal
target (gas jet) — boost (important)

2. Could study (Valencia)

signal process p[GeV/c]o[ub]
a) A, (A—pmT) pp—AN 1.642 =65
b) B (E —AT, A—pn) pp—)EE =3.5 =27

¢) Ag(Q-E ™ E'—AT,A—pm) pp—QQ >4.93 =0.06?

No statistical advantage of b) over a),
b) harder systematically,
c) hard & very speculative

= a)
3. Good idea(?):
Consider higher p,.,, = 1.7 GeV/c

— symmetrize A,A momenta, Zs = reduce systematics.
increase 0 =20%

But: contamination from Ep—-«)KE,E——)Ay
_ would this dilute CP asymmetry?
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 Beam size and divergence matter — want small
beam pipe and small divergence

— Cool before injection, decelerate in MI

— ideal if inject on-energy
— topping up beam to maintain L = constant

e [ =10 =stack at 30 mA/hr

currently: 10 mA/hr
near-term goal: 20 mA/hr by March
Run IIB goal: 100 mA/br

using €~ cooling in recycler

(other improvements also possible, e.g. slip-stacking)
e What ring(s) to build when?

Best scenario:

—  dedicated =2 GeV/c ring for Hyp. CPV to run constantly
with € cooling 4 1a TUCF +

_ additional 1~10 GeV/c ring for other physics
(10 GeV cooling more demanding, 15 GeV too costly)

_, Build 2-GeV ring first for NASA/PET? =$10M?

« We give up for now slow-extracted beam —
needed only for expt’s with polarized target
(or stopping p for which already plenty of data)
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